Subject: Re: How to deal with Implicit-Or Split limitations
Posted by AJM on Wed, 05 Oct 2016 11:32:17 GMT

View Forum Message <> Reply to Message

Note that an implicit OR split can only have two arcs, and one of the transitions MUST have a
timer as a trigger. If you want more than one arc, or conditions without a timer, then you MUST
use an explicit OR split.

Page 1 of 1 ---- Generated from Radi core Forum


index.php?t=usrinfo&id=3
index.php?t=rview&th=2306&goto=5938#msg_5938
index.php?t=post&reply_to=5938
index.php

